

Buyer (Importer)



CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: MI-COO-67123-690cc93215533

Date: November 06, 2025

Seller (Exporter) Integrated Global Services 7600 Whitepine Road	Transport Type Air	Port of Loading IAD
Richmond VA USA	Destination Country Qatar	Destination Port DOH
Consignee Technochem Limited Trading and Contracting UDC Tower 27th Floor The Pearl Qatar	Export Date 2025-11-09	Exporting Carrier QATAR AIRWAYS
	Import Permit Number	Bill of Lading / AWB 157-43931764
	Owner or Agent ************************************	Forwarding Agent RADIUS INTERNATIONAL

Remarks SAE00100609

Consignor reference: 25-42759-CW

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Parts of sand blasting machines.	87.80 kg	United States
H.S.Code: 8424.90.2000		
"Other Articles Of Vulcanized Rubber Other Than Hard Rubber, Others".	3.00 kg	United States
H.S.Code: 4016.99.6000		
Gas Or Smoke Analysis Apparatus.	16.50 kg	United States
H.S.Code: 9027.10.0000		
======================================		
CERTIFICATE OF ORIGIN		
AORIO CHAMBERS FEDERATION		

Name of Authorized Trade Association



Gine Venturo 1

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

-The information in this certificate and in any documents provided to the Greater Miami Chamber of

Commerce ("GMCC") is accurate, true and complete.

The Applicant undertakes to advise GMCC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any innacuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the

truth, accuracy and completeness of this certificate and accompanying documents.

In consideration for the GMCC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GMCC from any liability in connection with the issuance of this certificate and to indemnify GMCC in respect of any costs and/or claims made against GMCC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

Authorized Signature Liane Ventura

INVOICE# 25-42759-CW
PURCHASE ORDER# T25-42759

DATE Wednesday, November 5, 2025

Shipping Terms: NLR / EAR99
TEMPORARY IMPORT



Consignor Integrated Global Services, Inc.

7600 Whitepine Road

North Chesterfield, VA 23237 United States of America

EIN: 27-3233860

These Commodities Licensed by the U.S for Ultimate Destination of Oatar

Contact Nate Hunt

nate.hunt@integratedglobal.com

Consignee Technochem Limited Trading and Contracting

UDC Tower 27th Floor, The Pearl

Doha-Qatar

Contact Mr. Wajid Ali

Tel: +974-44020103/104 wajid@petromech.com.qa

INCOTERMS DDP - Technochem Limited Trading and Contracting, Doha, Qatar

		PART		The second second second	COUNTRY OF		NET WEIGHT	2000	1000 CT 1000 C	
ITEM	Tag#	NUMBER	Goods Description	QTY UOM	ORIGIN	Schedule B	(KG)	COST	Per Unit	Total Cost
1		B0003	Sandblast Hose - 50'	20 ea	USA	8424.90.2000	32.00 kg	\$	316.14	\$ 6,322.80
2		B0004	Bull Hose - 50'	20 ea	USA	8424.90.2000	24.35 kg	\$	362.24	\$ 7,244.80
3		B0008	Chicago Hose - 50'	20 ea	USA	8424.90.2000	6.80 kg	\$	65.26	\$ 1,305.20
4		B0010	Deadman Hose - 250' w/ valve	10 ea	USA	8424.90.2000	24.65 kg	\$	321.18	\$ 3,211.80
5		B0028	Breathing Line - 50'	10 ea	USA	4016.99.6000	3,00 kg	\$	134.17	\$ 1,341.70
6		B0029	Breathing Box	4 ea	USA	9027.10.0000	16.50 kg	\$	1,980.99	\$ 7,923.96
	1911	S 10 1 10					107.30 kg	1		\$ 27,350.26

TOTAL VALUE \$ 27,350.26

Nate Hunt

Warehouse Logistics Technician

These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first Export Clearance Requirements and Authorities Part 758-page 10 Export Administration Regulations Bureau of Industry and Security November 17, 2023 obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.



INVOICE # 25-42759-CW

PURCHASE ORDER # T25-42759

nate.hunt@integratedglobal.com

DATE Wednesday, November 5, 2025

Shipping Terms: NLR / EAR99
TEMPORARY IMPORT



 Consignor
 Integrated Global Services, Inc.
 Consignee
 Technochem Limited Trading and Contracting

 7600 Whitepine Road
 UDC Tower, 27th Floor, The Pearl

 North Chesterfield, VA 23237
 Doha, Qatar

 United States of America
 Contact: Mr. Wajid Ali

Tel: +974-44020103/104 wajid@petromech.com.ga

INCOTERMS DDP - Technochem Limited Trading and Contracting, Doha, Qatar

					NET		
	PART			COUNTRY OF	WEIGHT	TOTAL NET WEIGHT	
ITEM	NUMBER	DESCRIPTION	QTY UOM	ORIGIN	KG	KG	Crate
1	B0003	Sandblast Hose - 50'	20 ea	USA	32.00 kg	640.00 kg	3
2	B0004	Bull Hose - 50'	20 ea	USA	24.35 kg	487.00 kg	2
3	B0008	Chicago Hose - 50'	20 ea	USA	6.80 kg	136.00 kg	1
4	B0010	Deadman Hose - 250' w/ valve	10 ea	USA	24.65 kg	246.50 kg	1
5	B0028	Breathing Line - 50'	10 ea	USA	3.00 kg	30.00 kg	1
6	B0029	Breathing Box	4 ea	USA	16.50 kg	66.00 kg	1
			6		107.30 kg	1.605.50 kg	elect in the second

 NET WEIGHT
 1,605.50 kg
 1 Crate - 122x122x122 CM., 577.50 KG.

 GROSS WEIGHT
 1,940.90 kg
 1 Crate - 149x142x213 CM., 606 KG.

 1 Crate - 142x142x213 CM., 757.4 KG.



INVOICE # 25-42759 PURCHASE ORDER # T25-42759

DATE Wednesday, November 5, 2025



Consignor Integrated Global Services, Inc.

7600 Whitepine Road

North Chesterfield, VA 23237

United States of America

Contact nate.hunt

nate.hunt@integratedglobal.com

Consignee Technochem Limited Trading and Contracting

UDC Tower, 27th Floor, The Pearl

Doha, Qatar

Contact: Mr. Wajid Ali

Tel: +974-44020103/104 wajid@petromech.com.qa

INCOTERMS DDP - Technochem Limited Trading and Contracting, Doha, Qatar

	PART			COUNTRY OF	NET WEIGHT	TOTAL NET WEIGHT	
ITEM	NUMBER	DESCRIPTION	QTY UOM	ORIGIN	KG	KG	Crate
3	B0008	Chicago Hose - 50'	20 ea	USA	6.80 kg	136.00 kg	
4	B0010	Deadman Hose - 250' w/ valve	10 ea	USA	24.65 kg	246.50 kg	
5	B0028	Breathing Line - 50'	10 ea	USA	3.00 kg	30.00 kg	
6	B0029	Breathing Box	4 ea	USA	16.50 kg	66.00 kg	A Control
m	17.76		4		50.95 kg	478.50 kg	

NET WEIGHT 478.50 kg GROSS WEIGHT 577.50 kg

1 Crate - 122x122x122 CM.



INVOICE # 25-42759 PURCHASE ORDER # T25-42759

DATE Wednesday, November 5, 2025



Consignor Integrated Global Services, Inc.

7600 Whitepine Road

North Chesterfield, VA 23237

United States of America

Contact nate.hunt

nate.hunt@integratedglobal.com

Consignee Technochem Limited Trading and Contracting

UDC Tower, 27th Floor, The Pearl

Doha, Qatar

Contact: Mr. Wajid Ali

Tel: +974-44020103/104

wajid@petromech.com.qa

INCOTERMS DDP - Technochem Limited Trading and Contracting, Doha, Qatar

							NET		
	PART					COUNTRY OF	WEIGHT	TOTAL NET WEIGHT	
ITEM	NUMBER		DESCRIPTION	QTY	UOM	ORIGIN	KG	KG	Crate
2	B0004	Bull Hose - 50'		20	ea	USA	24.35 kg	487.00 kg	
O SHEET STATE	THE PARTY OF THE P			1			24.35 kg	487.00 kg	

NET WEIGHT 487.00 kg GROSS WEIGHT 606.00 kg

1 Crate - 149x142x213 CM.



INVOICE # 25-42759 PURCHASE ORDER # T25-42759

DATE Wednesday, November 5, 2025



Consignor Integrated Global Services, Inc.

7600 Whitepine Road

North Chesterfield, VA 23237

United States of America

Contact nate.hunt

nate.hunt@integratedglobal.com

Consignee Technochem Limited Trading and Contracting

UDC Tower, 27th Floor, The Pearl

Doha, Qatar

Contact: Mr. Wajid Ali

Tel: +974-44020103/104 wajid@petromech.com.qa

INCOTERMS DDP - Technochem Limited Trading and Contracting, Doha, Qatar

					NET		
	PART			COUNTRY OF	WEIGHT	TOTAL NET WEIGHT	
ITEM	NUMBER	DESCRIPTION	QTY UOM	ORIGIN	KG	KG	Crate
1	B0003	Sandblast Hose - 50'	20 ea	USA	32.00 kg	640.00 kg	
			1		32.00 kg	640.00 kg	1000

NET WEIGHT 640.00 kg GROSS WEIGHT 757.40 kg

1 Crate - 142x142x213 CM.

